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Clusterization Performance
BECAL standalone
Single Particle generators



Tot. Events with Cluster Number/ Tot Events

Tot. Events with Cluster Number/ Tot Events

Photons

100] oo ¢ 660 0e ® © O ™ ®
10'1?
[ ®
4 [ ) 0
10-2{ VS o ® e &
] ) * H 0
@ oe o 0 °
) )
o 0
aw
le]
®
10_3-: S &= <] e
o @ 6] e 0 0 0 o0
0 10 20 30 40 50 60 70
Electrons
100-: sy © © © O © @ @ ® & o
10_1? @
°
VOO. ® ) 0 0
> °,PY o o ¢ : 0
] ) ° [4)
o'.o" o] ! e o o °
a® %e% ] 0l
)
10_3-: e
e o oo W o 0l )
0 10 20 30 40 50

E Generated [GeV]

Number of clusters = 0
Number of clusters = 1
Number of clusters = 2
Number of clusters = 3
Number of clusters = 4



10

10°

102

10

_ E <10 GeV Electrons

E Photons

| _Protons

E "':-n- e "

B "'I:F:': +"'-|-+-|-

3 : +"'+ iﬂ*

EEI:_I_ +.+ :|:++f

Ezime! ht

ﬂ’r 1 JrH ’r ~J[

1 L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | |
0.2 04 0.6 1 1.2

-

reco —gen

10°

107

10

10 GeV > E > 30 GeV == Electrons

B - Photons
- Protons -

I +++ :

= + +

- + +

Z:|:+;|;.|.:|:+:|:+::'I'+ F+

- L At

T
=

[

-

E..J/E

reco —gen

[

0.2 04 06 038 1 1.2



UE/Ereco (%)

10

(]
(e}
o]
o)
8 1 ©
®
Q o
6 o
o® o
A o o®
o 8
| 5 o
4 A ) O Kj (o]
1 8 )
o 8 U o0 0 % 000.8
O PR 8 (e) O
8 Qo ) & 20
£ 00 O
o s 8 Sg'@.@‘" 00 -~ © 890
Pl > § ¢ goe,_:-. 333‘\ G 6o
8 0% O ENO O
o0&y
0 — —
100 10!

Ereco [GeV]

o

Photons All
09 <n< 0.6
06 <n< 0.3
03 <n< 0

0 <n<-0.3
-0.3 <n< -0.6
-0.6 <n< -0.9
-09 <n< -1.2
-12<n< -1.8
-12<n< -1.8

UE/Ereco (%)

10
8-
6_
Qe 90 e
iJO
) o © 0 o ~Yel
4 (o] o 6
5 @ 5 8 2 08. © (¢
a ®) 3]
o 2 8§ 008 - 8 o(:':'
= o © o (0] oy ©
21 B ° 99000 0500 2 60
2 8
0 T .
100 10!

Ereco [GeV]




UE/Ereco (%)

10

107!

10°

Ereco [GEV]

—— electrons fit (2.85 + 0.11)/\/? ® (1.49 + 0.09)

—— Photons fit (3.01 + 0.12)/VE @ (1.70 + 0.10)
® electrons
m Photons



Number of Clusters/ Tot. Events
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1 Clusters: Towers are enough that sums all the energy deposit in the calorimeter

Particle: pion0, E = 22.50 GeV
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2 Clusters: Summing the energy of both clusters
Particle: pion0, E = 1.01 GeV
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